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1.
Apply the even-odd parallel algorithm presented in class for sorting the 6 elements in the following ring of 6 processors.  Show the results of each of the up to 5 passes that it takes to complete this ascending (low to high) sort.
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2.
Explain why it is not possible for a thread in Java to get in a "deadly embrace (deadlock)" with itself (that is, with no other threads vying for the same synchronized blocks.

3.
Why is TCP/IP rather than UDP used for an http services?.

4.
Specify what each of the letters in MVC stand for and then give an argument in favor of the software engineering rules implied by this paradigm.


5.
.What are two advantages of using the bean design pattern when specifying methods to set and get bean attributes?


6.
Let A and B be two participants in a secure transaction. Further let their respective public/private key pairs be 
<PuA, PrA>, <PuB, PrB>. Finally, let the public key encryption/decryption algorithm be represented by the functions
Encrypt(plaintext, key) and Decrrypt(ciphertext, key)

Using the above terminology, describe how A might securely send the message M to B. Show any actions that A needs to do to prepare the message for secure delivery and that B must subsequently do to receive the message.


7.
Why must a transaction be totally aborted even if just one primitive action in the transaction fails?
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